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IThineng anagifunon

function conflict(i,, J;, 1,, J,- INt):
boolean

conflict := (1; = 1,) OR
. = J2)O0R
(abs(1;-1,) = abs;-1,))




ITieng anagifunon

function compatible(r, jJ: Int):
boolean

c := TRUE; k :-= 1;
Whlle C and (k < 1) do

c = not conflict(r, j, k, Pos[k])
k = k+1

endwhlle

compatible = c




ITingng amagifpron

Queens(n)
IT 1 > NQueens then
print solution
else
for J = 1 to NQueens do
1T compatible(r,j) then
Pos[1] = J;
Queens(i1+l);
endif
endfor
endif




N-Queens
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Méyioto AveCaptnto GOVOAO (maximum
independent set problem)

Branch and Bound (Heuristics)



